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A E X BI5E 45 AEIE (470> — NIV EE) B B
5cm 50¢cm 100c¢m
Dt i &R — 0.06 — PA-1000
2/1(A)HEY @77>aF —_ 0.06 —_ PA-1000
@RUFHI — 0.06 — PA-1000
©O)¢: L — 0.07 — PA-1000
8/3(A)EN @75>aF — 0.06 — PA-1000
QR FHI — 0.06 — PA-1000
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DB tth L ER — 0.06 — PA-1000
2/4(R)HEN @73>aF — 0.07 — PA-1000
QR FH — 0.05 — PA-1000
@it il &R — 0.06 — PA-1000
8/6 (K)EEN @75>aF — 0.06 — PA-1000
QR FHI — 0.05 — PA-1000
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8/1(K)EY @73>aF — 0.07 — PA-1000
QR FH — 0.07 — PA-1000
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QR FHI — 0.08 — PA-1000
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©O)¢: L — 0.07 — PA-1000
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QR FHI — 0.08 — PA-1000
DB tth L ER — 0.07 — PA-1000
8/4(R) @75>aF — 0.08 — PA-1000
QR FH — 0.07 — PA-1000
OBt il &R — 0.07 — PA-1000
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Ogith sl ER — 0.08 — PA-1000
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QR FHl — 0.09 — PA-1000
Ogith sl &R — 0.08 — PA-1000
11./8(%&) BEh @75>aTF — 0.11 — PA-1000
QR FHl — 0.11 — PA-1000
Ogith sl &R — 0.09 — PA-1000
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o 9(B) Bh @/\va‘-ﬁﬁ — 0.12 — PA-1000 ‘ : _
QEYEEH — 010 — PA-1000 BERF B E (REFREIFI B D alGEIE 5 5 B35 5F)
BNF — 011 — PA-1000 ”
ON>F — 010 — PA-1000 ”
(O ¢: LV — 0.10 — PA-1000
7/4(K) €Y @75>aF — 0.11 — PA-1000
QR FHl — 0.10 — PA-1000
(OL ¢ Ly — 0.09 — PA-1000
521K R @75>aF — 0.10 — PA-1000
QR FH — 0.10 — PA-1000
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S 2o — 0. 11 — =
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